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GIRFTETES NRAFISFT T foA s

Candidates are required to give their answers in their own words as far as practicable

1. Answer any fen questions from the following 2x10=20
R (TN =AM J7= T wrs:

(a) Define financial assets.
SAYF ST 58T 13 |

(b) What do you mean by speculation?
ST FE(© T (A2

(c) Name any two stock market indices in India.
SO (WEET 9f6 CTHT IS SEEF A1 (74 |

(d) What is a zero-coupon bond?

(e) How do you measure the current yield of a bond?

936 IT-99 IO 3G [FeNF AFTHAT FIE?

(f) Name two important economic indicators required for fundamental analysis.

G S TS 76 87 ANAOF Fo@F I @4 |

(g) Define technical analysis.
et RERER F2o8 TS |

(h) Name any two chart patterns used for technical analysis.
fEsTe [RAERCERE 51 37 @ 6 516 MBI 1 (7% |

(i) What is systematic risk?

TafosTe JF F1?

(j) What is the relation between diversification and the risk of a portfolio?

236 (MG @iha 8 JiFa Jwy 71 FI?

(k) Define financial derivatives.



AT (CfAEhe-a7 T W18 |

(I) What do you mean by the premium of an options contract?

A6 DTN GG AR Feite I (I 2

(m) What is the primary difference between futures and forward contracts?

236 FEOETRAN 43 936 FASIS §fea ey afeE s Fi 2

(n) State the relation between RoE (Return on Equity) and the growth rate of earnings.

333(5 fABT 933 S Jfad FNET F&T TH(6 (774 |

(o) What will be the impact on bond prices if the market interest rate increases?
IEE SF T IS IS O SFF NP FO1F MO ?

. Answer any four questions from the following 5x4=20
foET (AT B1ET J0TF Tad ws:

(a) Write a short note on the Indian securities market.

BT MG T T afe i3 BT 71y

(b) Briefly explain Dow theory in technical analysis.
fFsTe AR S@se T18 ©N@ SEHET T 74 |

(c) Differentiate between primary market and secondary market.

TRINF T 9T TESIF IO T AT (@ |

(d) The expected dividend per share of Vishnu Limited is Rs. 50. The dividend is expected to
grow at a rate of 6% per year. If the expected rate of return is 16%, what should be the
fair market value of the share?

RERS T 5875 |

(e) A company’s bonds have a par value of Rs. 100, mature in 7 years and carry a coupon
rate of 12% payable semi-annually. If the appropriate discount rate is 16%, what price
should the bond sell in the market?

R o 5B |
(f) Write a short note on Securities and Exchange Board of India (SEBI).
IfFOAIGT 9T A3E Q16 % 2T (SEBI) T aF% T:fFFg BIFT (@4 |

. Answer any two questions from the following 10 x2=20

T (IEET 76 A0 Sod ms:

(a) What is Beta (f) of a stock and how is it interpreted?



The risk-free rate of return is 10%. Market rate of return is 14%. Calculate the required

rate of return of a stock if its Beta is 1.25. How will the required rate of return of the
stock change if the Beta of the stock reduces to 0.75?

RERE 77 5845 |

(b) How do you differentiate between an options contract and a futures contract? With the
help of diagrams explain the pay-off structures of put options.

FOTE aF0 TPEs (e 932 aF0 HOEEY {fod TR FE ? (@FNHEa TR -9
AT TO-FOF T I F4 |

(c) What is investment? Explain the objectives of investment. Discuss different types of
investments in India context.

faferast $t 2 ffaaEmss S I F9 | SEed (T [Ffey ymem [faas faw
AT FF |

(d) What is investors’ protection? State the importance of investors’ protection. Briefly
explain investors’ grievance redressal mechanism at SEBI.

RIS ST Te700 B (FET ? N[ S[TH1T 859 (9@ 39 | SEB] F99
%%ww@wg%mﬂﬁ“%—dw%mmqaﬂwwl

End of Question Paper
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practicable
iRl ST RATISFT AT M e
RS TNHES fA@d ST Tad wis
1. Answer any ten questions 2x10=20
(T (@ 76 Fo7F Tad w8
(1)  Mr Amitav owns agricultural land. He gave the agricultural land on

(i)

(iii)

(iv)

lease for non-agricultural purposes to Ambani on yearly rent of Rs. 20

lakhs. This lease is for 3 years. Is the transaction supply of service?
ENGIREERTE))

The aggregate turnover of Mr Adani is Rs. 30, 00,000. He has two

branches. Turnover of the Mumbai branch i1s Rs. 7, 00,000. Turnover

of Delhi branch is Rs. 23, 00,000. Is Mr Adani a small taxable person?

ENGINEERTS))
Mr.Meheta transfers 1000 debentures of A Ltd. to Mr Akash for a
consideration of Rs. 8, 65000. The date of the transaction is July 20,

2020. Is GST applicable for this transaction?
ENGIREERTE)

Mr Sudin, a registered person in GST, is a flower dealer in Kolkata.
On July 28, 2020, he sells roses for decoration purposes for Rs. 1,
25,000 to an interior decorator. Explain the liability of GST for this
transaction.

(& 7T 5BAY)
On August 23, 2020, Mr Dilip transfers a plot of land situated in
Durgapur to Mr Amit for a consideration of Rs. 80 lakhs.
Consideration is, however, payable in instalments. Explain the

liability of GST for this transaction.
(2EfS 2 58)



(vi)  Mrs Anamika sells his old TV to a TV dealer for Rs.5, 600. Mrs
Anamika is not a registered person under GST. The TV dealer is a
registered person under GST. Explain the liability of GST in the hands
of Mrs Anamika and the TV dealer in this case.

ENGIREERTE)

(vil) Ajmer Sharif Dargha owns a residential complex in Ajmer Sharif.
Dargha Committee gave the complex for rent to pilgrims, who visited
Ajmer Sharif for Darshan. The daily rent of these units is as
follows-Category A Rs. 800 per day, Category B Rs. 1,500 per day
and Category C Rs. 3,500 per day. Explain the GST liability for these

services.
E GINEERTE)

(viil) Mr Sundaram, a renowned fashion designer, has a GST registration
from Kolkata. He wants to organize two fashion shows, one in
Mumbai and another in Dubai. Sundaram engages Solomon of Dubai
to supervise the fashion show event in Dubai and engages Amitabh
Bachchan to supervise the Mumbai event. Mr Solomon will charge a
fee of Rs. 23 lakhs and Mr Bachchan will charge a fee of Rs. 12 Lakhs

for the events. Find out the place of supply in these cases.
(RS = 58)

(ix) X Ltd. has GST registration from Delhi. On December 10, 2020, it
purchases a Dubai-Delhi air ticket from Air India for one of its chief
executive officers for Rs. 1,10,000 + applicable GST. Find out the

place of supply.
E GINEERTE)
(x)  Give your opinion about the Input tax credit of IGST utilized to pay
SGST.

IGST 95 S 27 B3 (BB SGST I 128 TSI T=I(E (ST NerH® 713 [
(xi) Give your opinion about the Input tax credit of IGST utilized to pay

CGST.

IGST a7 T 375 B3 (66 CGST T TI7© 3T W= (ST Mo 113 [



(xii)

(xiii)

(xiv)

(xv)

Give your opinion about the Input tax credit of CGST utilized to pay
SGST.

CGST a7 $7F 275 013 (FfS5 SGST I F53%® 23T F1F (STIH Nole 713 |
Give your opinion about the Input tax credit of SGST utilized to pay
CGST.

SGST 937 T5F 397 BV (FfS6 CGST T 737 23T TN (ST Toe wis |
Give your opinion about the Input tax credit of CGST utilized to pay
IGST.

CGST 97 T 370 B3 (&6 IGST Ful F5a%e 3TN T (O Norke a8 I
Give your opinion about the Input tax credit of SGST utilized to pay
IGST.

SGST 99 T 375 57T (BB IGST A7 1320 23T {1 (ST FoTe w13 |

. Answer any four questions 5x4=20
(T (FIET 116 J0IF T8 aIs

(a) “Goods and Service Tax (GST) subsumed major indirect taxes in India”. Mentions

the

indirect taxes subsumed through GST Act 2017.

“Sefy 92 (T FF AR T TES 37 3@ 950 FE®,” GST IR 2017 (@ IFa0 AT @ ®
AT AT FF ST T @Y FE@T1

(b) GST is a destination-based tax. Determine the place of supply in the following cases :

f&a
(1)

(i)

5 6 srearee fofes 9, fAafaiie (@ TG S8I3 o3 F&@T

Mr A of Mumbai, Maharashtra sells 10 TV sets to Mr B of Nagpur,
Mabharashtra.

Mr C of Mumbai, Maharashtra sells 30 TV sets to Mr D of Bangalore,
Karnataka.

(ii1))  Mr E in Lucknow buys goods from Mr F in Mumbai (Maharashtra). The

(iv)

buyer requests the seller to send the goods to Nagpur(Maharashtra)

Mr G of Mumbai, Maharashtra gets an order of 100 TV sets from Samsung
Ltd. of Chennai, Tamil Nadu. Samsung Ltd mentions that it will arrange its
own transportation and take TV sets from Mr G's ex-factory.



(v) Mr H of Mumbai, Maharashtra orders a mobile from Amazon, to deliver his
mother in Lucknow (UP) as a gift. M/S ABC (online seller registered in
Guyjarat) processes the order and sends the mobile accordingly and Amazon
bills Mr H.

ENGINEERTS))

(c) Mention the differences between Small Supplies and Composition Scheme.

U IR 933 ST 2630 97 T MAFSET Sy &1

(d) Who should obtain the GST registration? What are the documents required for GST

registration? Mention the penalty for not obtaining GST registration.
Fa 3 a1 6 faaaa @37 Sftw 2 FF Ft af¥ &y ax 6 faaa@a e J@ee 93% faqahal o1 FA7E Sy
MNRET SEY FET1

(e) From the given information calculate the input tax credit available to the suppliers
and also the revenue (GST) available to the concerned State and Central government :
Mr Sushil Agrawal of Gujarat supplies Mr Akbar of Gujarat. The taxable value of
supply is Rs. 2, 00,000. Mr Agrawal does not have any input tax credit. Mr Akbar
supplies the same goods after making value addition at the rate of 30 per cent. The

recipient of the supply is Mr Arun of Gujarat. The rate of GST applicable is 18%.
ENGIREERTE)

(f) From the given information calculate the input tax credit available to the suppliers

and also the revenue (GST) available to the concerned State Governments and Central
Governments:
Mr A, of Bihar, supplies goods to B of Bihar. The taxable value of supplies is Rs. 5,
00,000. A does not have any input tax credit.. M. B supplies the same goods after
making value addition at the rate of 40 per cent. The recipient of the supply is Z of
West Bengal. The rate of GST applicable is 12 per cent.

ENGINEERTE)

3. Answer any two questions 10x2=20
(T (T 6 T T8 118
(a) Define the terms Person and Business in relation to GST.



& a5 5 IR A [fE 972 TN FNSTF ST 773 1

(b) Bijoy of Hyderabad owns the following properties in Telangana. Find out GST
liability for the quarter ending June 30, 2020.

All figures are exclusive of GST if any. GST rate is 12 per cent-

(1) Commercial property given on rent to a recognized college affiliated with
Osmania University (municipal tax paid by Bijoy Rs. 75,000) Rs 30, 75000.

(i) A vacant plot of land was given on rent for animal husbandry (municipal tax
paid by Bijoy Rs. 10,000).

(iii)  Aresidential building is given on rent to a departmental store for placing
vending machines (municipal tax paid by Bijoy Rs. 30,000).

(iv)  Terrace of a residential building given on rent to Airtel for erecting
communication tower (municipal tax of terrace paid by Bijoy Rs. 10,000)

(v) Renting of a building for organizing entertainment events on a temporary basis
(municipal tax is zero) Rs. 80,000.

ENGINEERTS))

(c) (i) Kamal is a chartered accountant based in Chennai. He has GST registration from
Tamil Nadu (he does not have GST registration in any other State/Union Territory). He
provides tax consultancy to Y Ltd. (consultancy fee being Rs. 7, 00,000 + GST). Y Ltd.
has transferred residential buildings situated near its Nasik factory. Kamal has provided
tax consultancy from his Chennai office and consultancy pertains to different methods of
minimizing capital gains tax liability of Y Ltd. What is the place of supply in this case?
Determine the amount of GST (assume that rate is 18 per cent)

(i1) Bimal is an architect. He heads one of the leading architecture and design companies
and practices in the country with offices in Chennai and Madurai. He has GST
registration from Tamil Nadu (he does not have GST registration in any other
State/Union Territory). He has prepared building plans for Z Ltd for its factory situated in
Nagpur. The team of Bimal from the Chennai office prepares building plans. Z Ltd.
completes construction work under the supervision of Bimal (on only a few occasions,
Bimal has visited Nagpur). The consultancy fee charged by Bimal is Rs. 30 lakhs + GST.
What is the place of supply in this case? Determine the amount of GST (assume that GST
rate is 18 per cent).

EGINEERTE)

(d) State, in brief, the basic concepts of Customs Law. Explain the concept of
countervailing and Anti-Dumping Duty relating to Customs Law.



BT AR NS HTNS ST FfFT FET 1 BN 932 AfF TR 8T yEnsfer ST ke st
T FAT I



